

RESEARCH

Open Access



Optimal bounds for Neuman-Sándor mean in terms of the convex combination of the logarithmic and the second Seiffert means

Jing-Jing Chen, Jian-Jun Lei and Bo-Yong Long* 

*Correspondence:
longboyong@ahu.edu.cn
School of Mathematical Science,
Anhui University, Hefei, 230601,
China

Abstract

In the article, we prove that the double inequality

$$\alpha L(a, b) + (1 - \alpha)T(a, b) < NS(a, b) < \beta L(a, b) + (1 - \beta)T(a, b)$$

holds for $a, b > 0$ with $a \neq b$ if and only if $\alpha \geq 1/4$ and $\beta \leq 1 - \pi/[4 \log(1 + \sqrt{2})]$, where $NS(a, b)$, $L(a, b)$ and $T(a, b)$ denote the Neuman-Sándor, logarithmic and second Seiffert means of two positive numbers a and b , respectively.

MSC: 26E60

Keywords: Neuman-Sándor mean; logarithmic mean; the second Seiffert mean

1 Introduction

For $a, b > 0$ with $a \neq b$, the Neuman-Sándor mean $NS(a, b)$ [1], the second Seiffert mean $T(a, b)$ [2], and the logarithmic mean $L(a, b)$ [1] are defined by

$$NS(a, b) = \frac{a - b}{2 \sinh^{-1}[(a - b)/(a + b)]}, \quad (1.1)$$

$$T(a, b) = \frac{a - b}{2 \tan^{-1}[(a - b)/(a + b)]}, \quad (1.2)$$

$$L(a, b) = \frac{a - b}{\log a - \log b},$$

respectively. It can be observed that the logarithmic mean $L(a, b)$ can be rewritten as (see as [1])

$$L(a, b) = \frac{a - b}{2 \tanh^{-1}[(a - b)/(a + b)]}, \quad (1.3)$$

where $\sinh^{-1}(x) = \log(x + \sqrt{1 + x^2})$, $\tanh^{-1}(x) = \log \sqrt{(1 + x)/(1 - x)}$ and $\tan^{-1}(x) = \arctan(x)$, are the inverse hyperbolic sine, inverse hyperbolic tangent, and inverse tangent, respectively.

Recently, the means NS, T, L and other means have been the subject of extensive research. In particular, many remarkable inequalities for the Neuman-Sándor, second Seiffert and logarithmic means can be found in the literature [2–16].

Let $P(a, b) = (a - b)/(2 \sin^{-1}[(a - b)/(a + b)])$, $S(a, b) = \sqrt{(a^2 + b^2)/2}$, $A(a, b) = (a + b)/2$, $I(a, b) = 1/e(b^b/a^a)^{1/(b-a)}$, $G(a, b) = \sqrt{ab}$, and $H(a, b) = 2ab/(a + b)$ denote the first Seiffert, root-square, arithmetic, identric, geometric, and the harmonic means of two positive numbers a and b with $a \neq b$, respectively. Then it is well known that the inequality

$$S(a, b) > T(a, b) > NS(a, b) > A(a, b) > I(a, b) > P(a, b) > L(a, b) > G(a, b) > H(a, b)$$

holds for $a, b > 0$ with $a \neq b$.

In [17] and [18], the authors proved that the double inequalities

$$S(a, b)^{\alpha_3} A^{1-\alpha_3}(a, b) < NS(a, b) < S(a, b)^{\beta_3} A^{1-\beta_3}(a, b),$$

$$\alpha_4 S(a, b) + (1 - \alpha_4)G(a, b) < NS(a, b) < \beta_4 S(a, b) + (1 - \beta_4)G(a, b)$$

hold for all $a, b > 0$ with $a \neq b$ if and only if $\alpha_3 \leq 1/3$, $2(\log(2 + \sqrt{2}) - \log 3)/\log 2 \leq \beta_3 \leq 1$, $\alpha_4 \leq 2/3$ and $\beta_4 \geq 1/[\sqrt{2} \log(1 + \sqrt{2})]$.

In [19], it was showed that the inequality

$$P^{\alpha_2}(a, b)T^{1-\alpha_2}(a, b) < NS(a, b) < P^{\beta_2}(a, b)T^{1-\beta_2}(a, b)$$

holds for all $a, b > 0$ with $a \neq b$ if and only if $\alpha_2 > 1/3$ and

$$\beta_2 \leq \log\left(\frac{4 \log(1 + \sqrt{2})}{\pi}\right) / \log 2 = 0.1663 \dots$$

Let $L_p(a, b) = (a^{p+1} + b^{p+1})/(a^p + b^p)$ be the Lehmer mean of two positive numbers a and b with $a \neq b$. In [10], the authors proved the double inequality

$$L_{\alpha_1}(a, b) < NS(a, b) < L_{\beta_1}(a, b)$$

holds for all $a, b > 0$ with $a \neq b$ if and only if $\alpha_1 = 1.8435 \dots$ is the unique solution of the equation $(p + 1)^{1/p} = 2 \log(1 + \sqrt{2})$, and $\beta_1 = 2$.

Let

$$M_p(a, b) = \begin{cases} \left(\frac{a^p + b^p}{2}\right)^{1/p}, & p \neq 0, \\ \sqrt{ab}, & p = 0, \end{cases}$$

be the p th power means of two positive numbers a and b with $a \neq b$. In [20], the authors proved the sharp double inequality

$$M_{\log 2 / (\log \pi - \log 2)}(a, b) < T(a, b) < M_{5/3}(a, b)$$

holds.

Gao [21] proved the optimal double inequality

$$I(a, b) < T(a, b) < \frac{2e}{\pi} I(a, b)$$

holds for all $a, b > 0$ with $a \neq b$.

Yang [22] proved the inequality

$$A_p^{1/(3p)}(a, b)G^{1-1/(3p)}(a, b) < L(a, b) < A_q^{1/(3q)}(a, b)G^{1-1/(3q)}(a, b)$$

holds for all $a, b > 0$ with $a \neq b$ if and only if $p \geq 1/\sqrt{5}$ and $0 < q \leq 1/3$. And the inequality

$$M_0(a, b) < L(a, b) < M_{1/3}(a, b)$$

was proved by Lin in [23].

In [24], the authors present bounds for L in terms of G and A

$$G^{2/3}(a, b)A^{1/3}(a, b) < L(a, b) < \frac{2}{3}G(a, b) + \frac{1}{3}A(a, b)$$

for all $a, b > 0$ with $a \neq b$.

The purpose of this paper is to answer the following questions: What are the least value α and the greatest value β such that

$$\alpha L(a, b) + (1 - \alpha)T(a, b) < NS(a, b) < \beta L(a, b) + (1 - \beta)T(a, b)$$

holds for all $a, b > 0$ with $a \neq b$?

2 Lemmas

It is well known that, for $x \in (0, 1)$,

$$\tanh^{-1}(x) = x + \frac{x^3}{3} + \frac{x^5}{5} + \dots = \sum_{n=0}^{\infty} \frac{1}{2n+1} x^{2n+1}, \tag{2.1}$$

$$\tan^{-1}(x) = x - \frac{x^3}{3} + \frac{x^5}{5} - \frac{x^7}{7} + \dots = \sum_{n=0}^{\infty} \frac{(-1)^n}{2n+1} x^{2n+1}. \tag{2.2}$$

To establish our main result, we need several lemmas as follows.

Lemma 2.1 ([25]) *Let*

$$H(x) = \frac{1}{\sinh^{-1} x} - \frac{x}{\sqrt{1+x^2}(\sinh^{-1} x)^2}.$$

Then $H(x)$ is strictly increasing on $(0, 1)$. Moreover, the inequality

$$H(x) < \frac{x}{3} - \frac{x^3}{9} \tag{2.3}$$

holds for any $x \in (0, 0.76)$ and the inequality

$$H(x) > \frac{x}{3} - \frac{17x^3}{90} \tag{2.4}$$

holds for any $x \in (0, 1)$.

Lemma 2.2 Let $S(x) = 1/\tanh^{-1}x - x/[(1 - x^2)(\tanh^{-1}x)^2]$. Then

$$S(x) < -\frac{2}{3}x - \frac{1}{3}x^3 - \frac{1}{3}x^5 \tag{2.5}$$

for any $x \in (0, 1)$ and

$$S(x) > -\frac{2}{3}x - x^3 - \frac{x^5}{4} \tag{2.6}$$

for any $x \in (0, 0.76)$.

Proof Let

$$G(x) = (1 - x^2)(\tanh^{-1}x)^2 \left[S(x) + \frac{2}{3}x + \frac{1}{3}x^3 + \frac{1}{3}x^5 \right].$$

Then direct computation leads to

$$G(0) = 0, \tag{2.7}$$

$$G'(x) = \frac{1}{3}g(x) \tanh^{-1}x, \tag{2.8}$$

where $g(x) = (2 - 7x^6 - 3x^2)\tanh^{-1}x + 2x^5 + 2x^3 - 2x$. It follows that

$$g'(x) = \frac{1}{1 - x^2}g_1(x), \tag{2.9}$$

where $g_1(x) = (-42x^5 - 6x)(1 - x^2)\tanh^{-1}x - 17x^6 + 4x^4 + 5x^2$. Considering (2.1), we have

$$\begin{aligned} g_1(x) &< (-42x^5 - 6x)(1 - x^2) \left(x + \frac{x^3}{3} + \frac{x^5}{5} \right) - 17x^6 + 4x^4 + 5x^2 \\ &= \frac{1}{5}(42x^{12} + 28x^{10} + 146x^8 - 291x^6 + 40x^4 - 5x^2) \\ &< x^2(216x^6 - 291x^4 + 40x^2 - 5) < 0, \end{aligned} \tag{2.10}$$

for $x \in (0, 1)$. Thus, (2.9) and (2.10) as well as $g(0) = 0$ imply $g(x) < 0$ for $x \in (0, 1)$. Therefore, combining (2.7) and (2.8), we get $G(x) < 0$ for $x \in (0, 1)$. It means inequality (2.5) holds.

Let

$$Q(x) = (1 - x^2)(\tanh^{-1}x)^2 \left[S(x) + \frac{2}{3}x + x^3 + \frac{x^5}{4} \right].$$

Direct computation leads to

$$Q(0) = 0, \tag{2.11}$$

$$Q'(x) = \frac{1}{12}q_1(x) \tanh^{-1} x, \tag{2.12}$$

where

$$q_1(x) = 6x^5 + 24x^3 - 8x + (8 + 12x^2 - 45x^4 - 21x^6) \tanh^{-1} x.$$

When $x \in (0, 0.7]$, considering (2.1) and the fact $8 + 12x^2 - 45x^4 - 21x^6 = (3 - 21x^6) + (5 + 12x^2 - 45x^4) > 0$, we can get

$$\begin{aligned} q_1(x) &> 6x^5 + 24x^3 - 8x + (8 + 12x^2 - 45x^4 - 21x^6) \left(x + \frac{x^3}{3} + \frac{x^5}{5}\right) \\ &= -\frac{21}{5}x^{11} - 16x^9 - \frac{168}{5}x^7 - \frac{167}{5}x^5 + \frac{116}{3}x^3 \\ &> x^3 \left(-\frac{269}{5}x^4 - \frac{167}{5}x^2 + \frac{116}{3}\right) > 0. \end{aligned}$$

When $x \in (0.7, 0.76)$, direct computation leads to

$$q_1(0.76) = 1.8639 \dots > 0, \tag{2.13}$$

$$q_1'(x) = q_2(x)/(1 - x^2), \tag{2.14}$$

where $q_2(x) = 92x^2 - 87x^4 - 51x^6 + (126x^7 + 54x^5 - 204x^3 + 24x) \tanh^{-1} x$. Considering (2.1) and the fact $126x^7 + 54x^5 - 204x^3 + 24x < 12x(15x^4 - 17x^2 + 2) < 0$, we can get

$$\begin{aligned} q_2(x) &< 92x^2 - 87x^4 - 51x^6 + (126x^7 + 54x^5 - 204x^3 + 24x) \left(x + \frac{x^3}{3} + \frac{x^5}{5}\right) \\ &= \frac{126}{5}x^{12} + \frac{264}{5}x^{10} + \frac{516}{5}x^8 - \frac{301}{5}x^6 - 283x^4 + 116x^2 \\ &< 2x^4(91x^4 - 30x^2 - 20) + x^2(116 - 243x^2) < 0. \end{aligned} \tag{2.15}$$

Thus, (2.13)-(2.15) imply that

$$q_1(x) > 0 \tag{2.16}$$

holds for any $x \in (0.7, 0.76)$.

Therefore, $Q(x) > 0$ for $x \in (0, 0.76)$ follows from (2.11), (2.12) and (2.16). That means inequality (2.6) holds. □

Lemma 2.3 *Let $T(x) = 1/\tan^{-1}x - x/[(1 + x^2)(\tan^{-1}x)^2]$. Then*

$$T(x) < \frac{2}{3}x - \frac{1}{3}x^3 + \frac{2}{7}x^5 \tag{2.17}$$

for any $x \in (0, 1)$ and

$$T(x) > \frac{2}{3}x - \frac{2}{5}x^3 + \frac{x^5}{7} \tag{2.18}$$

for any $x \in (0, 0.76)$.

Proof Let

$$M(x) = \left[T(x) - \frac{2}{3}x + \frac{x^3}{3} - \frac{2}{7}x^5 \right] (1 + x^2) (\tan^{-1} x)^2.$$

Differentiating $M(x)$, we have $M'(x) = [t(x)\tan^{-1}x]/21$, where

$$t(x) = 14x + 14x^3 - 12x^5 + (-42x^6 + 5x^4 - 21x^2 - 14)\tan^{-1}x.$$

For $x \in (0, 1)$, we have $-42x^6 + 5x^4 - 21x^2 - 14 < -42x^6 - 16x^2 - 14 < 0$. Thus from (2.2), we can get

$$\begin{aligned} t(x) &< 14x + 14x^3 - 12x^5 + (-42x^6 + 5x^4 - 21x^2 - 14) \left(x - \frac{x^3}{3} \right) \\ &= 14x^9 - \frac{131}{3}x^7 - \frac{7}{3}x^3 \\ &< -\frac{89}{3}x^7 - \frac{7}{3}x^3 < 0. \end{aligned}$$

Therefore $M'(x) < 0$ for $x \in (0, 1)$. Considering the fact $M(0) = 0$, we get $M(x) < 0$ for $x \in (0, 1)$. So the inequality (2.17) holds.

Let

$$N(x) = \left[T(x) - \frac{2}{3}x + \frac{2}{5}x^3 - \frac{x^5}{7} \right] (1 + x^2) (\tan^{-1} x)^2.$$

Differentiating $N(x)$, we have $N'(x) = n(x)\tan^{-1}x$, where

$$n(x) = \frac{2}{3}x + \frac{4}{5}x^3 - \frac{2}{7}x^5 - \left(x^6 - \frac{9}{7}x^4 + \frac{4}{5}x^2 + \frac{2}{3} \right) \tan^{-1} x.$$

Because of

$$\left(\frac{4}{5}x^2 - \frac{9}{7}x^4 \right) + x^6 + \frac{2}{3} > 0$$

for $x \in (0, 0.76)$, it follows that

$$\begin{aligned} n(x) &> \frac{2}{3}x + \frac{4}{5}x^3 - \frac{2}{7}x^5 - \left(x^6 - \frac{9}{7}x^4 + \frac{4}{5}x^2 + \frac{2}{3} \right) x \\ &= x^5 - x^7 > 0. \end{aligned}$$

Considering the fact $N(0) = 0$, the inequality (2.18) holds. □

Lemma 2.4 *The function $f(x) = \lambda S(x) + (1 - \lambda)T(x) - H(x)$ is strictly decreasing on $(0.76, 1)$, where $\lambda = 1 - \pi/[4 \log(1 + \sqrt{2})] = 0.1089 \dots$ and $H(x), S(x)$ and $T(x)$ are defined as in Lemmas 2.1, 2.2 and 2.3, respectively.*

Proof Direct computation leads to

$$S'(x) = 2 \frac{x - \tanh^{-1} x}{(1 - x^2)^2 (\tanh^{-1} x)^3},$$

$$S''(x) = 2 \frac{\varphi(x)}{(1 - x^2)^3 (\tanh^{-1} x)^4},$$

where $\varphi(x) = 3(1 + x^2)\tanh^{-1} x - 3x - 4x(\tanh^{-1} x)^2$. It follows that

$$\varphi'(x) = \frac{R(x)}{1 - x^2},$$

where $R(x) = -4(1 - x^2)(\tanh^{-1} x)^2 - (6x^3 + 2x)\tanh^{-1} x + 6x^2$. From (2.3), we can get

$$R(x) < -4(1 - x^2) \left(x + \frac{x^3}{3}\right)^2 - (6x^3 + 2x) \left(x + \frac{x^3}{3}\right) + 6x^2$$

$$= \frac{4}{9}x^8 + \frac{2}{9}x^6 - \frac{16}{3}x^4 < 0.$$

Thus $\varphi(x)$ is strictly decreasing on $(0.76, 1)$. Considering the fact $\varphi(0.76) = -0.5821 \dots < 0$, we have $\varphi(x) < 0$ for any $x \in (0.76, 1)$. In other words, $S'(x)$ is strictly decreasing on $(0.76, 1)$.

Let $\phi(x) = \lambda S(x) + (1 - \lambda)T(x)$. It was proved that $T'(x)$ is strictly decreasing on $(0.7, 1)$ in Lemma 5 of [26]. Thus, from the monotonicity of $S'(x)$ and $T'(x)$, we have

$$\phi'(x) < \lambda S'(0.76) + (1 - \lambda)T'(0.76) = -0.0043 \dots < 0$$

for any $x \in (0.76, 1)$. That is to say, $\phi(x)$ is strictly decreasing on $(0.76, 1)$. Considering the monotonicity of $H(x)$ in Lemma 2.1, the proof is completed. □

Lemma 2.5 *We have*

$$\frac{4 - 11\lambda}{28}x^4 - \frac{27\lambda + 13}{45}x^2 + \frac{1 - 4\lambda}{3} > 0$$

for $x \in (0, 0.76)$, where $\lambda = 1 - \pi/[4 \log(1 + \sqrt{2})] = 0.1089 \dots$

Proof Let

$$\eta(x) = \frac{4 - 11\lambda}{28}x^4 - \frac{27\lambda + 13}{45}x^2 + \frac{1 - 4\lambda}{3}.$$

Then it is easy to verify that $\eta(x)$ is decreasing on $(0, \mu)$, where

$$\mu = \sqrt{\frac{14}{15}} \times \sqrt{\frac{160 \log(1 + \sqrt{2}) - 27\pi}{11\pi - 28 \log(1 + \sqrt{2})}} = 1.3303 \dots$$

Considering $\eta(0.76) = 0.01693 \dots > 0$, we have $\eta(x) > 0$ for $x \in (0, 0.76)$. □

3 Main results

Theorem 3.1 *The double inequality*

$$\alpha L(a, b) + (1 - \alpha)T(a, b) < NS(a, b) < \beta L(a, b) + (1 - \beta)T(a, b)$$

holds for any $a, b > 0$ with $a \neq b$ if and only if $\alpha \geq 1/4$ and

$$\beta \leq 1 - \frac{\pi}{4 \log(1 + \sqrt{2})} = 0.1089 \dots$$

Proof Because $NS(a, b), L(a, b), T(a, b)$ are symmetric and homogeneous of degree 1, without loss of generality, we can assume that $a > b$ and $x := (a - b)/(a + b) \in (0, 1)$. Let $p \in (0, 1)$ and $\lambda = 1 - \pi/[4 \log(1 + \sqrt{2})] = 0.1089 \dots$. Then by (1.1)-(1.3), direct computation leads to

$$\begin{aligned} \frac{NS(a, b)}{A(a, b)} &= \frac{x}{\sinh^{-1} x}, \\ \frac{L(a, b)}{A(a, b)} &= \frac{x}{\tanh^{-1} x}, \\ \frac{T(a, b)}{A(a, b)} &= \frac{x}{\tan^{-1} x}. \end{aligned}$$

Let

$$\begin{aligned} F_t(x) &= \frac{tL(a, b) + (1 - t)T(a, b) - M(a, b)}{A(a, b)} \\ &= t \frac{x}{\tanh^{-1} x} + (1 - t) \frac{x}{\tan^{-1} x} - \frac{x}{\sinh^{-1} x}. \end{aligned} \tag{3.1}$$

Then it follows that

$$F_{\frac{1}{4}}(0^+) = 0, \tag{3.2}$$

$$F_\lambda(0^+) = F_\lambda(1^-) = 0. \tag{3.3}$$

Differentiating $F_t(x)$, we have

$$\begin{aligned} F'_t(x) &= t \left[\frac{1}{\tanh^{-1} x} - \frac{x}{1 - x^2} \frac{1}{(\tanh^{-1} x)^2} \right] \\ &\quad + (1 - t) \left[\frac{1}{\tan^{-1} x} - \frac{x}{1 + x^2} \frac{1}{(\tan^{-1} x)^2} \right] \\ &\quad - \left[\frac{1}{\sinh^{-1} x} - \frac{x}{\sqrt{1 + x^2}} \frac{1}{(\sinh^{-1} x)^2} \right] \\ &:= tS(x) + (1 - t)T(x) - H(x), \end{aligned}$$

where $H(x), S(x)$ and $T(x)$ are defined as in Lemmas 2.1-2.3, respectively.

On one hand, from inequalities (2.4), (2.5) and (2.16), we clearly see that

$$\begin{aligned} F'_{\frac{1}{4}}(x) &= \frac{1}{4}S(x) + \frac{3}{4}T(x) - H(x) \\ &< \frac{1}{4}\left(-\frac{2}{3}x - \frac{1}{3}x^3 - \frac{1}{3}x^5\right) + \frac{3}{4}\left(\frac{2}{3}x - \frac{1}{3}x^3 + \frac{2}{7}x^5\right) - \left(\frac{x}{3} - \frac{17}{90}x^3\right) \\ &= -\frac{13}{90}x^3 + \frac{11}{84}x^5 < 0 \end{aligned}$$

for any $x \in (0, 1)$. It leads to

$$F_{\frac{1}{4}}(x) < F_{\frac{1}{4}}(0) = 0 \tag{3.4}$$

for any $x \in (0, 1)$. Thus, from (3.1) it follows that

$$NS(a, b) > \frac{1}{4}L(a, b) + \frac{3}{4}T(a, b)$$

for all $a, b > 0$ with $a \neq b$. Considering $L(a, b) < NS(a, b) < T(a, b)$, we can get

$$NS(a, b) > \alpha L(a, b) + (1 - \alpha)T(a, b) \tag{3.5}$$

for all $\alpha \geq 1/4$ and $a, b > 0$ with $a \neq b$.

On the other hand, from inequalities (2.3), (2.6) and (2.17), we have

$$\begin{aligned} F'_\lambda(x) &> -\lambda\left(\frac{2}{3}x + x^3 + \frac{x^5}{4}\right) + (1 - \lambda)\left(\frac{2}{3}x - \frac{2}{5}x^3 + \frac{x^5}{7}\right) - \left(\frac{x}{3} - \frac{x^3}{9}\right) \\ &= x\left[\frac{4 - 11\lambda}{28}x^4 - \frac{27\lambda + 13}{45}x^2 + \frac{1 - 4\lambda}{3}\right] \end{aligned}$$

for $x \in (0, 0.76)$. According to Lemma 2.5, we have

$$F'_\lambda(x) > 0 \tag{3.6}$$

for $x \in (0, 0.76)$. Lemma 2.4 shows that $F'_\lambda(x)$ is strictly decreasing on $(0.76, 1)$. This fact and $F'_\lambda(0.76) = 0.0713\dots > 0$ together with $F'_\lambda(1^-) = -\infty$ imply that there exists $x_0 \in (0.76, 1)$ such that $F_\lambda(x)$ is strictly increasing on $(0, x_0]$ and strictly decreasing on $[x_0, 1)$. Equations (3.1) and (3.3) together with the piecewise monotonicity of $F_\lambda(x)$ lead to the conclusion that

$$NS(a, b) < \lambda L(a, b) + (1 - \lambda)T(a, b)$$

for all $a, b > 0$ with $a \neq b$. Considering $L(a, b) < M(a, b) < T(a, b)$, we can get

$$NS(a, b) < \beta L(a, b) + (1 - \beta)T(a, b) \tag{3.7}$$

holds for $\beta \leq \lambda$ and all $a, b > 0$ with $a \neq b$.

Finally, we prove that $L(a, b)/4 + 3T(a, b)/4$ and $\lambda L(a, b) + (1 - \lambda)T(a, b)$ are the best possible lower and upper mean bound for the Neuman-Sándor mean $M(a, b)$.

For any $\epsilon_1, \epsilon_2 > 0$, let $t_1 = 1/4 - \epsilon_1, t_2 = \lambda + \epsilon_2$. Then one can get

$$F_{t_1}(x) = \left(\frac{1}{4} - \epsilon_1\right) \frac{x}{\tanh^{-1} x} + \left(\frac{3}{4} + \epsilon_1\right) \frac{x}{\tan^{-1} x} - \frac{x}{\sinh^{-1} x}, \tag{3.8}$$

$$F_{t_2}(x) = (\lambda + \epsilon_2) \frac{x}{\tanh^{-1} x} + (1 - \lambda - \epsilon_2) \frac{x}{\tan^{-1} x} - \frac{x}{\sinh^{-1} x}. \tag{3.9}$$

Let $x_1 \rightarrow 0^+$ and $x_2 \rightarrow 1^-$, then the Taylor expansion leads to

$$F_{t_1}(x_1) = \frac{2}{3}\epsilon_1 x_1^2 + O(x_1^4), \tag{3.10}$$

$$F_{t_2}(x_2) = -4\epsilon_2/\pi + O(x_2 - 1). \tag{3.11}$$

Equations (3.8) and (3.10) imply that if $\alpha < 1/4$, then, for any $\epsilon_1 > 0$, there exists $\sigma_1 \in (0, 1)$ such that $NS(a, b) < (1/4 - \epsilon_1)L(a, b) + (3/4 + \epsilon_1)T(a, b)$ for all a, b with $(a - b)/(a + b) \in (0, \sigma_1)$.

Equations (3.9) and (3.11) imply that if $\beta > \lambda$, then, for any $\epsilon_2 > 0$, there exists $\sigma_2 \in (0, 1)$ such that $NS(a, b) > (\lambda + \epsilon_2)L(a, b) + (1 - \lambda - \epsilon_2)T(a, b)$ for all a, b with $(a - b)/(a + b) \in (1 - \sigma_2, 1)$. □

4 Conclusion

In the article, we give the sharp upper and lower bounds for Neuman-Sándor mean in terms of the linear convex combination of the logarithmic and second Seiffert means.

Acknowledgements

This research was supported by Foundations of Anhui Educational Committee (KJ2017A029) and Anhui University (J10118520279, J01001901, Y01002428), China.

Competing interests

The authors declare that they have no competing interests.

Authors' contributions

All the authors worked jointly. All the authors read and approved the final manuscript.

Publisher's Note

Springer Nature remains neutral with regard to jurisdictional claims in published maps and institutional affiliations.

Received: 26 May 2017 Accepted: 13 September 2017 Published online: 10 October 2017

References

1. Neuman, E, Sándor, J: On the Schwab-Borchardt mean. *Math. Pannon.* **14**(2), 253-266 (2003)
2. Seiffert, HJ: Aufgabe β 16. *Die Wurzel* **29**, 221-222 (1995)
3. Carlson, BC: The logarithmic mean. *Am. Math. Mon.* **79**, 615-618 (1972)
4. Chu, Y-M, Long, B-Y: Bounds of the Neuman-Sandor mean using power and identric means. *Abstr. Appl. Anal.* **2013**, Article ID 832591 (2013)
5. Chu, Y-M, Long, B-Y, Gong, W-M, Song, Y-Q: Sharp bounds for Seiffert and Neuman-Sandor means in terms of generalized logarithmic means. *J. Inequal. Appl.* **2013**, Article ID 10 (2013)
6. Chu, Y-M, Qian, W-M, Wu, L-M, Zhang, X-H: Opimal bounds for the first and second Seiffert means in terms of geometric, arithmetic and contraharmonic means. *J. Inequal. Appl.* **2015**, Article ID 44 (2015)
7. Chu, Y-M, Wang, M-K, Gong, W-M: Two sharp double inequalities for Seiffert mean. *J. Inequal. Appl.* **2011**, Article ID 44 (2011)
8. Chu, Y-M, Wang, M-K, Wang, Z-K: Best possible inequalities among harmonic, logarithmic and Seiffert means. *Math. Inequal. Appl.* **15**(2), 415-422 (2012)
9. Chu, Y-M, Zhao, T-H, Liu, B-Y: Optimal bounds for Neuman-Sándor mean in terms of the convex combination of logarithmic and quadratic or contra-harmonic means. *J. Math. Inequal.* **8**(2), 201-217 (2014)

10. Li, Y-M, Long, B-Y, Chu, Y-M: Sharp bounds for the Neuman-Sándor mean in terms of generalized logarithmic mean. *J. Math. Inequal.* **6**(4), 567-577 (2012)
11. Neuman, E: Sharp inequalities involving Neuman-Sándor and logarithmic means. *J. Math. Inequal.* **7**(3), 413-419 (2013)
12. Qi, F, Li, W-H: A unified proof of several inequalities and some new inequalities involving Neuman-Sándor mean. *Miskolc Math. Notes* **15**(2), 665-675 (2014)
13. Yang, Z-H: Estimates for Neuman-Sándor mean by power means and their relative errors. *J. Math. Inequal.* **7**(4), 711-726 (2013)
14. Yang, Z-H, Chu, Y-M: Inequalities for certain means in two arguments. *J. Inequal. Appl.* **2015**, Article ID 299 (2015). doi:10.1186/s13660-015-0828-8
15. Yang, Z-H, Chu, Y-M: An optimal inequalities chain for bivariate means. *J. Math. Inequal.* **9**(2), 331-343 (2015)
16. Yang, Z-H, Chu, Y-M, Song, Y-Q: Sharp bounds for Toader-Qi mean in terms of logarithmic and identric means. *Math. Inequal. Appl.* **19**(2), 721-730 (2016)
17. Neuman, E: A note on a certain bivariate mean. *J. Math. Inequal.* **6**(4), 637-643 (2012)
18. Zhao, T-H, Chu, Y-M, Liu, B-Y: Optimal bounds for Neuman-Sándor mean in terms of the convex combinations of harmonic, geometric, quadratic, and contraharmonic means. *Abstr. Appl. Anal.* **2012**, Article ID 302635 (2012)
19. Huang, H-Y, Wang, N, Long, B-Y: Optimal bounds for Neuman-Sándor mean in terms of the geometric convex combination of two Seiffert means. *J. Inequal. Appl.* **2016**, Article ID 14 (2016)
20. Li, Y-M, Wang, M-K, Chu, Y-M: Sharp power mean bounds for Seiffert mean. *Appl. Math. J. Chin. Univ. Ser. B* **29**(1), 101-107 (2014)
21. Gao, S-Q: Inequalities for the Seiffert's means in terms of the identric mean. *J. Math. Sci. Adv. Appl.* **10**(1-2), 23-31 (2011)
22. Yang, Z-H: New sharp bounds for logarithmic mean and identric mean. *J. Inequal. Appl.* **2013**, Article ID 116 (2013)
23. Lin, T-P: The power mean and the logarithmic mean. *Am. Math. Mon.* **81**, 879-883 (1974)
24. Leach, EB, Sholander, MC: Extended mean values, II. *J. Math. Anal. Appl.* **92**(1), 207-223 (1983)
25. Chu, Y-M, Zhao, T-H, Song, Y-Q: Sharp bounds for Neuman-Sándor mean in terms of the convex combination of quadratic and first Seiffert means. *Acta Math. Sci. Ser. B Engl. Ed.* **34**(3), 797-806 (2014)
26. Cui, H-C, Wang, N, Long, B-Y: Optimal bounds for the Neuman-Sándor mean in terms of the convex combination of the first and second Seiffert means. *Math. Probl. Eng.* **2015**, Article ID 489490 (2015)

Submit your manuscript to a SpringerOpen[®] journal and benefit from:

- Convenient online submission
- Rigorous peer review
- Open access: articles freely available online
- High visibility within the field
- Retaining the copyright to your article

Submit your next manuscript at ► springeropen.com
